# HI PACHIKURI DATE 2012-629-3 by H.E:
# I change EQX EQY every day using ifactor(date):
with( plots) : with(StringTools) : print( FormatTime ("%m-%d-%r1") );
"06-29-05:02:42 AM"
# BS ni Raichou Miru ya Tsuyu Ashita:
ifactor(629); print( FormatTime ("%m-%d-%r1") );
(17) (37)
"06-29-05:06:03 AM"

CP = [red, blue, green, magenta, "Purple", "Orange", "DarkGreen", black] :

FP = [t,sin(t), sin(sin(¢) ), cos(cos(?) ), sin(cos(¢)), cos(sin(z)), cos(tan(z)),
sin(tan(#))]:

c =0 :for e from 1 to 5 do for / from 1 to 8 do for » from 1 to 2 do for ds from 1 to 8

do EQX :=sin(h-37- 1) + W -FP[h]: EQY := cos(h-37- )"
+ —Cos(e;”) FP[e+b+1] :HEQG‘ ds = plot( EQX, EQY, 1= 5= é) 2P
ds-2-Pi

, numpoints =300, color = CP[ds], scaling = constrained, axes = none, title

8
="2012-6-29 by H.E") :od: ¢ == ¢ + 1 : print(display(seq(HEQG]|| j,j=1..8))) :

print("Pachikuri-DATE by H.E") print(EQ=[EQX, EQY]) : print(HEB= [h, e, b],
629 =ifactor(629), Begin|| c¢) :od:od:od: print( FormatTime ("%m-%d-%rt") );

2012-6-29 by H.E

"Pachikuri-DATE by H.E"

0y

0))



EQ=[sin(37 )" +sin(37¢) 1, cos(37 ¢)'7 + cos(37 ¢) sin(sin(¢)) ]
HEB=11,1,11,629=(17) (37), Beginl

2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQO=|sin(371)" + % sin(37¢) t, cos(37 1) + % cos(37 1) cos(cos(7))
HEB=11,1,21,629=(17) (37), Begin2



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(74 t)17 +sin(37 t) sin(z), cos(74 t)17 + cos(37 t) sin(sin(z) )]
HEB=1[2,1,1],629=(17) (37), Begin3



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(74 )" + % sin(37 ¢) sin(¢), cos(74 ¢)' + % cos(37 ) cos(cos(?))

HEB=1[2,1,2],629=(17) (37), Begin4



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(lll t)17 +sin(37 t) sin(sin(z)), cos(111 t)17 + cos(37 t) sin(sin(?) )]
HEB=1[3,1,1],629=(17) (37), Begin5
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"Pachikuri-DATE by H.E"

EQ=|sin(111 t)17 + B sin(37 t) sin(sin(¢)), cos(111 t)17 + — cos(37 t) cos(cos(?))

2
HEB=13,1,2],629=(17) (37), Begin6




2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin( 148 t)17 +sin(37 t) cos(cos(z)), cos(148 t)17 + cos(37 ¢t) sin(sin(¢)) ]
HEB=1[4,1,1],629=(17) (37), Begin7



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(148 t)17 + % sin(37 ¢) cos(cos(t)), cos(148 t)17 + % cos(37 ¢t) cos(cos(?))

HEB=1[4,1,2],629=(17) (37), Begin8



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin( 185 t)17 +sin(37 t) sin(cos(t) ), cos( 185 t)17 + cos(37 t) sin(sin(?) )]
HEB=1[5,1,1],629=(17) (37), Begin9



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(185 t)17 + % sin(37 ¢) sin(cos(¢)), cos(185 t)17 + % cos(37 ¢t) cos(cos(?))

HEB=15,1,2],629=(17) (37), Beginl0



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(222 t)17 +sin(37 t) cos(sin(z)), cos(222 t)17 + cos(37 ¢t) sin(sin(¢)) ]
HEB=16,1,1],629=(17) (37), Beginll



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(222 t)17 + % sin(37 t) cos(sin(t)), cos(222 t)17 + % cos(37 ¢t) cos(cos(?))

HEB=16,1,2],629=(17) (37), Beginl2



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(259 t)17 +sin(37 t) cos(tan(z)), cos(259 t)17 + cos(37 ¢t) sin(sin(¢)) ]
HEB=1[7,1,1],629=(17) (37), Beginl3
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"Pachikuri-DATE by H.E"

EQ=|sin(259 t)17 + % sin(37 ¢) cos(tan(¢)), cos(259 t)17 + % cos(37 ¢t) cos(cos(?))

HEB=17,1,2],629=(17) (37), Beginl4



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(296 t)17 +sin(37 ¢t) sin(tan(z) ), cos(296 t)17 + cos(37 t) sin(sin(?) )]
HEB=1(8,1,1],629=(17) (37), Beginl5



2012-6-29 by H.E

MMW

o mEiiimiln

i1

"Pachikuri-DATE by H.E"

EQ=sin(296 t)17 + % sin(37 ¢) sin(tan(¢)), cos(296 t)17 + % cos(37 ¢t) cos(cos(?))

HEB=18,1,2],629=(17) (37), Beginl6



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(37 t)17 +sin(74 t) t, cos(37 t)17 + cos(74 t) cos(cos(t) )]
HEB=1[1,2,11,629=(17) (37), Beginl7



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(37)" + % sin(74 1) £, cos(37 1) "7 + % cos(74 1) sin(cos(t))

HEB=11,2,2],629=(17) (37), Beginl8



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(74 t)17 +sin(74 t) sin(t), cos(74 t)17 + cos(74 t) cos(cos(t)) ]
HEB=1{2,2,11,629=(17) (37), Beginl9



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(74 1) + % sin(74 ¢) sin(¢), cos(74 1) + % cos(74 1) sin(cos(z))

HEB=12,2,2],629=(17) (37), Begin20



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(lll t)17 +sin(74 t) sin(sin(z) ), cos(111 t)17 + cos(74 t) cos(cos(t) )]
HEB=13,2,11,629=(17) (37), Begin2l



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(111 t)17 + % sin(74 t) sin(sin(¢)), cos(111 t)17 + % cos(74 t) sin(cos(?))

HEB=13,2,2],629=(17) (37), Begin22



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin( 148 t)17 +sin(74 t) cos(cos(t) ), cos(148 t)17 + cos(74 t) cos(cos(t)) ]
HEB=14,2,11,629=(17) (37), Begin23



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(148 t)17 + % sin(74 t) cos(cos(t)), cos(148 t)17 + % cos(74 t) sin(cos(?))

HEB=14,2,2],629=(17) (37), Begin24



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin( 185 t)17 +sin(74 t) sin(cos(z) ), cos(185 t)17 + cos(74 t) cos(cos(t)) ]
HEB=15,2,11,629=(17) (37), Begin25
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"Pachikuri-DATE by H.E"

EQ=|sin(185 t)17 + % sin(74 t) sin(cos(t)), cos(185 t)17 + % cos(74 t) sin(cos(?))

HEB=15,2,2],629=(17) (37), Begin26



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(222 t)17 +sin(74 t) cos(sin(z)), cos(222 t) 74 cos(74 t) cos(cos(t)) ]
HEB=16,2,11,629=(17) (37), Begin27



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(222 t)17 + % sin(74 t) cos(sin(t)), cos(222 t)17 + % cos(74 t) sin(cos(?))

HEB=16,2,2],629=(17) (37), Begin28



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(259 t)17 + sin(74 t) cos(tan(z)), cos(259 t)17 + cos(74 t) cos(cos(t)) ]
HEB=1{7,2,11,629=(17) (37), Begin29



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(259 t)17 + % sin(74 t) cos(tan(¢)), cos(259 t)17 + % cos(74 t) sin(cos(?))

HEB=17,2,2],629=(17) (37), Begin30



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(296 t)17 +sin(74 t) sin(tan(z) ), cos(296 ¢) 74 cos(74 t) cos(cos(t)) ]
HEB=18,2,11,629=(17) (37), Begin31



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=sin(296 t)17 + % sin(74 t) sin(tan(¢)), cos(296 t)17 + % cos(74 t) sin(cos(?))

HEB=18,2,2],629=(17) (37), Begin32



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(37 t)17 +sin(111 #) ¢, cos(37 t)17 + cos(111 #) sin(cos(?) )]
HEB=1{1,3,1],629=(17) (37), Begin33



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(37)" + % sin(111 ¢) ¢, cos(37 )" + % cos(111 ¢) cos(sin(¢))

HEB=11,3,2],629=(17) (37), Begin34



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(74 t)17 +sin(111 #) sin(¢), cos(74 t)17 + cos(111 #) sin(cos(t) )]
HEB=12,3,11,629=(17) (37), Begin35



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(74 t)17 + % sin(111 ¢) sin(¢), cos(74 t)17 + % cos(111 ¢) cos(sin(¢))

HEB=12,3,2],629=(17) (37), Begin36



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(lll t)17 +sin(111 ¢) sin(sin(z)), cos(111 t)17 + cos(111 #) sin(cos(t) )]
HEB=13,3,1],629=(17) (37), Begin37



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(111 t)17 + % sin(111 ¢#) sin(sin(¢)), cos(111 t)17 + % cos(111 ¢) cos(sin(?))

HEB=13,3,2],629=(17) (37), Begin38



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin( 148 t)17 +sin(111 ¢) cos(cos(t)), cos(148 t)17 + cos(111 ¢) sin(cos(?)) ]
HEB=14,3,11,629=(17) (37), Begin39



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(148 t)17 + % sin(111 #) cos(cos(¢)), cos(148 t)17 + % cos(111 ¢) cos(sin(¢))

HEB=14,3,2],629=(17) (37), Begin40



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ= [sin(185 t)17 +sin(111 ¢) sin(cos(¢)), cos(185 t)17 + cos(111 #) sin(cos(t) )]
HEB=15,3,11,629=(17) (37), Begin4l



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(185 t)17 + % sin(111 #) sin(cos(¢)), cos(185 t)17 + % cos(111 ¢) cos(sin(?))

HEB=15,3,2],629=(17) (37), Begin42



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(222 t)17 +sin(111 ¢) cos(sin(z)), cos(222 t)17 + cos(111 #) sin(cos(t) )]
HEB=16,3,11,629=(17) (37), Begin43



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(222 t)17 + % sin(111 #) cos(sin(¢)), cos(222 t)17 + % cos(111 ¢) cos(sin(?))

HEB=16,3,2],629=(17) (37), Begin44



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(259 t)17 +sin(111 ¢) cos(tan(z)), cos(259 t)17 + cos(111 #) sin(cos(t) )]
HEB=17,3,11,629=(17) (37), Begin45



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(259 t)17 + % sin(111 #) cos(tan(?)), cos(259 t)17 + % cos(111 ¢) cos(sin(?))
HEB=117,3,21,629=(17) (37), Begin46




2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(296 t)17 +sin(111 #) sin(tan(z)), cos(296 t)17 + cos(111 #) sin(cos(t) )]
HEB=18,3,1],629=(17) (37), Begin47



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=sin(296 t)17 + % sin(111 ¢#) sin(tan(¢)), cos(296 t)17 + % cos(111 ¢) cos(sin(?))

HEB=18,3,2],629=(17) (37), Begin48



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(37 t)17 +sin(148 1) ¢, cos(37 t)17 + cos(148 t) cos(sin(t) )]
HEB=1[1,4,11,629=(17) (37), Begin49



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(37)" + % sin(148 7) ¢, cos(37 1) + % cos(148 #) cos(tan(t))

HEB=11,4,2],629=(17) (37), Begin50



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(74 t)17 + sin(148 ¢) sin(t), cos(74 t)17 + cos(148 t) cos(sin(t) )]
HEB=1{2,4,11,629=(17) (37), Begin51



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(74 t)17 + % sin (148 ¢) sin(¢), cos(74 t)17 + % cos(148 ¢) cos(tan(?))

HEB=1(2,4,2],629=(17) (37), Begin52



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ= [sin(lll t)17 + sin(148 ¢) sin(sin(z) ), cos(111 t)17 + cos(148 t) cos(sin(t) )]
HEB=13,4,1],629=(17) (37), Begin53



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(111 t)17 + % sin (148 ¢) sin(sin(¢)), cos(111 t)17 + % cos(148 ¢) cos(tan(¢))

HEB=13,4,2],629=(17) (37), Begin54



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ= [sin( 148 t) 74 sin( 148 ¢) cos(cos(t)), cos(148 ¢) 74 cos(148 t) cos(sin(t)) ]
HEB=14,4,1],629=(17) (37), Begin55



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(148 t)17 + % sin(148 ¢) cos(cos(?)), cos(148 t)17 + % cos(148 ¢) cos(tan(¢))

HEB=1[4,4,2],629=(17) (37), Begin56



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin( 185 t)17 + sin(148 ¢) sin(cos(¢) ), cos(185 t)17 + cos(148 t) cos(sin(z)) ]
HEB=15,4,1]1,629=(17) (37), Begin57



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(185 t)17 + % sin(148 ¢) sin(cos(¢)), cos(185 t)17 + % cos(148 ¢) cos(tan(¢))

HEB=15,4,2],629=(17) (37), Begin58



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ= [sin(222 t)17 + sin(148 ¢) cos(sin(#)), cos(222 t)17 + cos(148 t) cos(sin(z)) ]
HEB=16,4,11,629=(17) (37), Begin59



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(222 t)17 + % sin(148 ¢) cos(sin(f)), cos(222 t)17 + % cos(148 ¢) cos(tan(¢))

HEB=16,4,2],629=(17) (37), Begin60



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(259 t)17 + sin(148 ¢) cos(tan(z)), cos(259 t)17 + cos(148 t) cos(sin(z)) ]
HEB=1[7,4,1]1,629=(17) (37), Begin6l



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(259 t)17 + % sin(148 ¢) cos(tan(?)), cos(259 t)17 + % cos(148 ¢) cos(tan(¢))

HEB=17,4,2],629=(17) (37), Begin62



2012-6-29 /= by H.Ebisui

"Pachikuri-DATE by H.E"
EQ= [sin(296 t)17 + sin(148 ¢) sin(tan(z)), cos(296 t)17 + cos(148 t) cos(sin(z)) ]
HEB=1(8,4,11,629=(17) (37), Begin63



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=sin(296 t)17 + % sin (148 ¢) sin(tan(?)), cos(296 t)17 + % cos(148 ¢) cos(tan(¢))

HEB=18,4,2],629=(17) (37), Begin64



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(37 t)17 +sin(185¢) ¢, cos(37 t)17 + cos(185 ¢) cos(tan(z)) ]
HEB=1[1,5,11,629=(17) (37), Begin65



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(37)" + % sin(185 ¢) ¢, cos(37 1) + % cos(185 #) sin(tan(7))

HEB=11,5,2],629=(17) (37), Begin66



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(74 t)17 + sin( 185 ¢) sin(¢), cos(74 t)17 + cos(185 ¢) cos(tan(?) )]
HEB=12,5,11,629=(17) (37), Begin67



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(74 t)17 + % sin (185 ¢) sin(¢), cos(74 t)17 + % cos(185 ¢) sin(tan(¢))

HEB=12,5,2],629=(17) (37), Begin68



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(lll t)17 + sin(185 ¢) sin(sin(z)), cos(111 t)17 + cos(185 ¢) cos(tan(?) )]
HEB=13,5,11,629=(17) (37), Begin69
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2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin( 148 t)17 + sin(185 ¢) cos(cos(t)), cos(148 t)17 + cos(185 ¢) cos(tan(z)) ]
HEB=14,5,11,629=(17) (37), Begin71



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(148 t)17 + % sin( 185 #) cos(cos(?)), cos(148 t)17 + % cos(185 ¢) sin(tan(z))

HEB=14,5,2],629=(17) (37), Begin72
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"Pachikuri-DATE by H.E"

EQ= [sin( 185 t)17 + sin(185 ¢) sin(cos(¢)), cos(185 t)17 + cos(185 ¢) cos(tan(?) )]
HEB=15,5,11,629=(17) (37), Begin73




2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=|sin(185 t)17 + ; sin(185 ¢) sin(cos(¢)), cos(185 t)]7 + ; cos(185 ¢) sin(tan(¢))

HEB=15,5,2],629=(17) (37), Begin74



2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(222 t)17 + sin( 185 ¢) cos(sin(#)), cos(222 t)17 + cos(185 ¢) cos(tan(z)) ]
HEB=16,5,11,629=(17) (37), Begin75



2012-6-29 by H.E
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"Pachikuri-DATE by H.E"

EQ=|sin(222 )7 + - sin(185 1) cos(sin(1) ), cos(222 0"

+ % cos(185 ¢) sin(tan(¢))
HEB=1[6,5,2],629 =

(17) (37), Begin76




2012-6-29 by H.E

"Pachikuri-DATE by H.E"
EQ= [sin(259 t)17 + sin( 185 ¢) cos(tan(z)), cos(259 t)17 + cos(185 ¢) cos(tan(z)) ]
HEB=1[7,5,11,629=(17) (37), Begin77



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

259 t)17 + % cos(185 ¢) sin(tan(¢) )]

(
(

COS

(

))

1

+ > sin (185 ¢) cos(tan(¢

sin(259 1)’

EQ=

37), Begin78

)

17

HEB=17,5,2], 629




2012-6-29 by H.E
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"Pachikuri-DATE by H.E"
EQ= [sin(296 t)17 + sin(185 ¢) sin(tan(z)), cos(296 t)17 + cos(185 ¢) cos(tan(z)) ]
HEB=18,5,11,629=(17) (37), Begin79



2012-6-29 by H.E

"Pachikuri-DATE by H.E"

EQ=sin(296 t)17 + % sin( 185 ¢) sin(tan(?)), cos(296 t)17 + % cos(185 ¢) sin(tan(¢))

HEB=18,5,2],629=(17) (37), Begin80
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